
*)θcos(

1− 0.5− 0 0.5 1

co
u

n
t

260

265

270

275

280

285

310×
<1.8

T
Raw Yields 1.2<p <1.8

T
Raw Yields 1.2<p

*)θcos(

1− 0.5− 0 0.5 1

co
u

n
t

64000

66000

68000

70000

72000

74000

76000

<2.4
T

Raw Yields 1.8<p <2.4
T

Raw Yields 1.8<p

*)θcos(

1− 0.5− 0 0.5 1

co
u

n
t

10000

10500

11000

11500

12000

12500

13000

<3.0
T

Raw Yields 2.4<p <3.0
T

Raw Yields 2.4<p

*)θcos(

1− 0.5− 0 0.5 1

co
u

n
t

1300

1400

1500

1600

1700

1800

1900

2000

2100

<4.2
T

Raw Yields 3.0<p <4.2
T

Raw Yields 3.0<p
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